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Instructions:
(a) A bore fermé, Tout fype de caleulubrices autorisd,
Closed book. All types of ecaleulators are allowed.

i

1Y Répondrn sur le questionnaire. Réponses numdrques dans les boites,
Answer on the question sheets. Fillin hoxes with nunerical answers.
() Les 7 guestions sont 4 'égale vulewr

N

-
All seven questions have the same valiue,
(d}) Lonner & détod de vos calculs.
Show all computation.

(€) Une [fenille rowdster de Labfes Wt{ Cu ;,")m .
A one-page table ouces is : f‘f-m,i_

P

(£ Tous lex angles sont en A lDIAI".’.S' Tester el ajuster ‘H’J'fi"'P Lﬂim?atmm,
All angles are in RADIAN measures. Test and adjust your caleulators.

™ B

sin 1123450780 = (.9016011236-4403
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Qu. 1. Trouver un focteur dintégraiion, rendre Uéguation

le probléme & vafeur irritiale.

Find an intecration factor, make the differential

problem.
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différentielle ezocin et résoudre

pquation exach aud solve the initial valie

y(1) = 2.
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Qu. 2. Hésoudr le probléme a valewr indfiale,
Solve the initial value problem.

o 2y =19

E"}L by o3 y+:ry_ i

it - ‘c::] j I%r hJ ::"-'-. - A
M) = € = =

b

3‘/ §io)



#/ e

4
Qu. 3. Résoudre I probléme aur valeurs inliales.

Sclve the imitial value problem.

Er 1,33, v+ +2 =0 y(0)=2 Y
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Qu. 4. Résoudre le probléme cuw voleurs intalés

Salve the initial value problem.

22y + 5zy 4+ 3y =0, x> 0,
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Qu. 5. Trouwer la solution géndrale.

Iind the peneral solulion.

£ 3025 y' —y = e sinz.
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Qu. 6. Trouvver la solution générole.

Find the general solution.

Erg. 3,35

A% e En s

1
| 4+ e

y” + ;'_%-yr 4 2y =

(A4t h+2/=0p

¥ = Ae T ge ¥
F P

o

Jlr - Ehim-h.{:; | I A
: | 2 |
< B - 2 II r 11 - " ! A fr
[~ A T ?
| = [le [_ | P |
/ - TN ( /r.’ ol N |'
£ il e ‘( / ’7({5:1 i
J = 2
[:‘:-l : RS — e = -
[+ e = .
e
:’( { LEJ{C !JI L{ N . al 1|'|
& ; == € & E‘PC l diw =€ -j_?ij
¢ I e
C, =T * ; +e ¢ |
_ x (‘ '}f_)
e o Ut e
- -
¢, b/ - [_F?E;E<@Xf ~
e ,.ﬁ_njtfi du . _ (U+te=l 4y
€ f‘ﬂ] — J { =t & %¢ - L a¢ Ltta
L)
e P =~
= . e >
k) =— 4 O (1€ / o B

4y = o l1e™ ) €7~

2 [eX- -,g“(_“htf:':” =



= 9o

2

Qu. 7. Seit lo récurrence ¢/ Consider the fived poinr iteration:

I g \
.T_-.n_i_l —_ § \r;" 10 =" m.}jl e _f(:.i-_cn)-
(a) ¢ ile pouni fire est / I the fixed point is

p = 1.36023001341410,

montrer gue la convergence est dordre 1/ show Lhal Lhe order of convergence is 1.
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(b} De uoire réponan en (a), dédure Uardre de convergence de Uaccélération de Steffensen
Irom vour answer in (a), what is the order of conversence of Steffenzen’s acceleration.

Cenil, cfgfﬁﬁ-bﬂfi p=np Qﬂ} =3 |
et ia_ o mdbe 2 #le- Plyvea b acthim

L'aceéléralion d'Aitken est / The Aitken acceleration is
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Laceélération da Steffenzen est [ Steffonsen's acceleration is

Opg = Ty —

et pour fand forn=0,1,2,. .,
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TABLE 1. Tableau de résultats pour la question 7. €, = 8n — 84

7. ) Ln thy P A E'.'i—l.."f 'F:.:i .
(7 [ 1.50000000000000 | 1.36188648104418 | 1150000000000000 | 0.175187
1| 1.99605376762338 | 1.36432013238098 | 1. 35188648104418 | 0.159094
| 9 | 1.40254080353959 | 1.36400912802003 | 1.364228236757081 0.159472
3 | 1.34545837402329 | 1.36516894262093 | 1.36523001341350
4 | 1.37517025281603 | 1.37517025281604 | 1.3652300134 1409 J,
5 1.:3qquc£1ggfﬁ1?d - gt Nal c,crm“f'_
6 | 1.36784696TE0213 | 1.365228018214816 Nal -
7 | 1.36388700388402 Hal l J
8 | |
[iliser la table pour ealewler T4 d 10 décymales. \
[Jse table tu compute x5 to 10 decimal places. Xg = fﬂ If‘x-} \
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(d) Dtiliser In table pour caleuler / Use table to compute as.
Ao )=
d 2 gy — LU
\ﬁ 5_ ﬁ"ng_?(j"‘
as= | 3é5 L25 27 Y 69

(&) Euphauer la correspondance entre le rapport des erreurs dans la dernigére colonne de lo

tahle ot votre réponse en (b) 7

Explain whether the ratic of the errers in Lhe lnst column of the table apgrees with your

answer in part (b) 7
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